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>a) Plz)=2'+32° =322 - 11z - 6

b) Q(z) = —=19z% + 2% — 49z + z* - 30

c) R(z) = 2%+ 22° — 3% — 42® + 422

d) T(z) = 2° + 62* + 52* — 36z — 242*

2. Factorice e indique las raices de los siguientes polinomios:

N a) P(z) =22 + 2% 4+ 822 + 4z

._7b) Qz)=a* -2 -4z + 4

¢) Rz)=2r' 42> -822 -2 +6

d) S(z)=2° - 122% — 22% + 27z + 18

e) T(z) = 22°% — 30z + 20z + 4822
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1. Factorizar y determinar las raices de los siguientes polinomios:

——a) Pz)=z"+32" - 32> - 11z - 6

b) Q(z) = —=192% + 2* — 49z + z* - 30

c) R(z) = 2%+ 22° — 32! — 42® + 422

———————— d) T(z) = 2° + 6z* + 52 — 36z — 2422

P = x k3 -2 -1y -4
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x¢3)(XD0*1) = Q

S (X+3)=0=>X=-3 bzo d=0

S XY= 0=2x=2

S(x+1) =0/ Tp(x+1) =0 %= -1
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2. Factorice e indique las raices de los siguientes polinomios:

a) P(x)= 2r' 4+ 2 + 8% + 4Ax

Sb) Q(z) =2 —2% —4xr 4+ 4

() R(I’) — 2.]‘1 e _I"" — 8-1-2 —_T 4 ()

d) S(z)=2z" - 122% — 222 + 27z + 18

e) T(z) = 22°% - 30z 4+ 202* + 4822
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= XA -D)-4(x-1)

= (X-1)(x = q)

= (=2} (X=-2>(x+2)







